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(1) *5^ftl : tr3*tr+€^ftl, trl+E, El++e],
(2) Hlf,E:xlt l : 6tzldEHlt, Z€=E^ftl
(3) *5+1fl : olxlfrfr
(4) Hlf,E+tfl : gzl&ge

(s) xlgg : -E $+rl$='
(6)  ̂fE4€ : +^lg?lg€xl3

+q4ttt^j

d;Hl t ,  d 'JHPI^ l l  5

2. sef +elzlLf^.lel !f+E +€ ^.ll+grq
(1) gg+q

(2) ggHlt :  ̂ f t lH$9lE+++E, gHJ^f+glqt++E, eFgHl E
(3) ggel+q : oll|fel, trFglq
(4) g Eelulg

r. 7lggl4l7l= 5el +lHJ^ttl
6l|'J^f B fi,8.

w. TlEl *ol6lqot Et ̂ ls
6HB^fg fi,8.



ry. 4+C.E]|E
\11271 2E7l 2013H
\1|271 tETl 20L2L3

a3 eJ I Tl 18H+l E++t el +Ei.$F^lsl ̂l

039 319
129 319

tr41
trIl|

1c1$l:fl)

! t  +, r1l27l 1E7l
^ftj

L +5^ft1 581,028,324 l_8,571_,g30,ggL
(1) trJ5|-^l-t s8t,028,324 l_8,571_,930,991
1. Ee46J3€xltt 554,57I,592 855,933,571
2. tr l++q 506,058 L,230,076
3.  d ;H l t
4. d'JHE^.ll 6,734,990 5,247,400
s. +7f^JIE|l?B L9,2L5,704 L7,709,5L9,944
tr. Hl+5^ftl 4L7,897,904,637 4L7,627,433,834
(1) +e^f^l 4L7,897,904,637 4L7,627,433,934
1. Z€ePixft i 4L7,897,904,637 4L7,627,433,934
(2) TlEtolHl+5^ltt

1.  d|71,! ;Hl t
^ltl*41 4L8,478,932,96L 436,199,364,725
+^l|
I. +s+rt| L64,957,74L L7,78L,477,L29
1. El^ la+ L64,957,741, 17,78L,477,L29
tr. HlSE+*ll

I .e t71^ lg+

+r1|+41 L64,957,74L L7,78L,477,r29
^f*

I .  ^ fE+ 135,746,645,000 L35,746,645,000
1. _H.Ei+^fEe L35,746,645,000 135,746,645,000
t r . ^ fegqB 282,645,509,930 283,405,499,220
1. +^l"JdJ*lfB 282,645,509,930 283,405,498,220
u. ^fE5€ U (661,988,390)
1.+^ lgEgg^ lE n (661,999,390)

IV.  0 le. lgq; (78,L79,6L0) (72,267,234)

1.  t r l {Eo lqgq= (78,r79,61.0) (72,267,234)

&e+41 4L8,313,975,220 4I8,4L7,997,596

+rt|q ̂ fE64l 418,479,932,96I 436,199,364,725



v. +el4ltt^1

\11271 2E7l : 20t38 019 019+E1
^1j271 LET| : 20I2Ll 109 019+El

i3 il g tl 18tr91 qr.+! al +5.t!F^idl ^f (trJ91 : fl)

vr. ole{gq+4E4lt]^l(0llg-Eg rcl 5f€0ll Eltttrt. tr[E], =ilull=J€ g a+Oilts E
zlHll'J7l 0llE Ef€ H!trl.)

ETlH-LolEr-tr 6;1'J ̂fg fi,*

tn. tr+gFE(rllg!E"J lE 4l€0ll EtEttrt.)

ETlEr.o lEE 6H'J  ̂fB Sg

2013H 039 31gzl^l
20t2LJ 129 3lgzlxl

r l+ xilzzl z+zt
r .  gg+el

n.ggHl t l_4,681,00L 12,736,0L8

1. gfls+ 750,000 750,000

2. ̂ fts$+lEf ++E 8,486,594 3,429,049

3. gEl^f++lE+++E 5,L73,667 5,L43,574

4. ̂ l;++E 225,740 2,873,395

s. ̂ ll=iqtrl 45,000

6.  * i lddHl 540,000

r .  gg0 lq (14,681,001) (L2,736,0r9)

IV. ggel+sl 8,768,630 L,L32,939

1. 0l^f+q 8,768,630 L,132,939

v.  gge lHl t 5

1. fi+d 5

vr. H?l^l lHl€:&at+olq (5,9L2,376) (1_1,603,07g)

w. gPl^l lHlt

vrr. ElTl+olE (5,912,376) (l_L,603,079)



w 4l+rilEoll Efl*et +4

1. gt! ^l*

sl^fb +StlFxfHl^lHoll eltf +lE+$el+E$+rfHl^fE^1 20118 119 eg0ll €=J
Elq 201111 119 309^ftr EllEf trJ+ +ealg+el ggglTfE +l+6|-fl+Lltrf. Hl^lol
fe.,r1ge.qg +E:tlg +lq, rJel, Tl|aJ, x1E,7llg, gE|lxf 4 =flel E|10|l,  =.E71
Efqel ql{ Ei' €$ + +5.tlF^lsl^fH sts trf= HaJoil g6lq *o1a5J g+ 5el
sHg-a +^l .ga4q ge +elg ++E0il41 H|l'J6fts a"JLltrf. cl^lel Etr+r||
^l

gETlg tr41 dl,r.1-o; ++ +€e trfgll e#Llrl..

^.:7<
T T +^.1+(+) xlEg(%)

+flgeaE 27,068,908 99.70o/o

eE=.aJi^ltit!+ 80,42r 0.30o/o

g4l 27,L49,329 100.00%

dl^fel  ̂ fgEE= 67l|g(qLl 4g 19+ 109 1g0ll 7||^l6f-r. eg 30grl 3g 31goll
5E.)01q, trlE_t dld^fgEEts €aJgtr+El 2or2LJ 9g 3ogzfrl gLltrf.

2 .=g'*et q4^jqsdel sE

Hl,t1o1 4+x'l lE* gfiTlgglzlTlcoll  rt+ at€qfloq f =eil  sl4lxlelHJEe tr l
g4 ,JALItrf.

1) +elg E^l
dl^fb +q7fq4€ol etEqr +el*o-48 del€?l4l +€g + ?leq eril4
Hqel 897ftsi€01 E|l+ +g rr| l +qB p!^l6lr f l+Lltrf.

2) SEI}tl
dl^fb f,6Jxft lg +l+a7fql^.1 eri l4 +€LllAE+ql E+ef 8e4Hql el4q $€
EJ 7J7184+zlo-49 tl'zJtl 7laqo.-tr E^lqq flaLltrf. lE'-ef +dHl= ^flfel Ll|
aE+= Ed|^l7l71Ll Tlxl= €E4ge =71^l7l+ ̂ l=e 816|l ^ft lel gTlql
7f{l5lq, trJ^l gArg gl+^l7l71Ll .J6H 5Ef;-^lE gl*S xl=3 'JzlultgE E
Lltrf.



3) HoJd elal
dl^l= g^lq&o|(Tlgdlzlar rlt l ,+I| lel. ^l lHar ̂ftt,+lHol &ole^j gg4q dl
4l Es 019 7l?J}ll tE6f= ^fol)€ie-a e!4q HE^ll Eel HaJql eldfq H+
4qoF g +e401 HeJ^jlHltg f!|.6fts 3+ f rrl6lts Bq{g +ri^f.t!91 olg
HE^ll^f$oe. zlar6fr f leq, Hel^ilHl8:ol H9l^.l l  Eel HEJqI el4q H+4q
of -g Be4g dll 6fts e+ r 6!|-6fts eeqE Hlf,5+*l|E olEHgl^Jl+rHE
al6t6fr flaLltrl

3.+s E€^lg

.J7l"J trrfi e1,'.1.o1 fs. E€^lgrg trfgll e6qtrf.

(1) +Ei.tl r|.|Eilzlqr
Hl^f= trlgr| ee +Etl 0l{E|l4lEg {lE6fr E 4qFoil qef zle+Elt =.E'Bo_tr
3E7l"J -d4 nflnHrfl;-ol 600/o1 408,131EtrJflg rla6lHt.Llrf.

+E Lflt

o1s.P.! xlgtrl0llE ti olf l +4gl^l-

Ot|O1|+48

a) €Tl?9 r l lL2-16^l+ 5^lgrA€Hl^lg d+AEE${ 175,536.7m',
^1617= ^1824= Ei g+^l€ A5 d+ 4 EJE|I^I€ g+

b) ?l zEq EHt! El|^|fl

c) o l-rl o) tr I
,t b) +Ei,|l0il ++5lb 4€iel ail 4 +€elxft!

EllollEfle 680,219E trJ.fl

Ell; i^la^l7l

4lqF+ : ollollE]|eel Ljo/o / 2011Ll 12g 169

1tf =E+ : E[|E}|EII;o|s0%/  20L2tr 129 319

2^l =E+ : o}|n]|E[|BslLlo/o / 2OtZt-j sa 319

3^f 6EB : 0t|0llE]|eelLlo/o / 2013 LJ 109 319

uB :  ̂ *f loldE7l71 3eq5 ^1tr (4le+tl leoJe+El e+ gzzfl3 olL]|) C1)
ollEfl4lE6|]^l^l
ilalqr-EE +l*d

'J-H-

€Tl+q 4u-1_6^l+ ^fg+^l = E|{Eplol ^*flg €+He! +Eq
E}|el .JEtlE+el 1++l +d+qfl Eb rql f6lb gH E

(*1) *E# xlfrql

4t}q= +sEl+g
(2) gE|lx| 4qf

4e ESHI+g
:lrJ,* #.lge.

"nEoJr+ atl6lTlj1 +ql ulel ^Jzl 
"]l'l]qleel 20%q1^l

ta€ qa"J

Hl^f= Et|g ql€E Et|8 +5t!(gE4 e5,57e.em')0l l  t l |qq rlqlaz€(+)el EE4
1_0070011 Efl6fq 10ErJ gE|lxfzlqhg 8ltr6lr flfLltrf.trftrJ, EID|.|^I€ = g+ts 20
LlrJ gE|1xfzlE€ 4;236f_r. fleq, g+^l€ Atel e+ gE|lglel dElql t+al. ILJrJ
g E}|xlTl rJg g617;.5*9 Ll tr;.



(3) ̂ fll$alzlqt
dl^ib ( i)aaJaxf.| ldEJlf +Etl +l+ .rJel .THaJ

f,7f=fl0l|D|l 5el HJHq el-sr ̂ltel +&tag+
g slzlzlzJgE- ̂l;6|.r. ?laLltrf.

"I tjE, +€tl 7||g "I gE|lxl,
9l+zlq'g fitrJ4q +Eet ;o4

7 E-rf .I+ xlfr,rlzl

oll"Jff e +Ftl "t lEEleqel 0.2w%
zll +41 a "J s+El 7 "J o)LIl 50%
A+? ol a gs+El 7"JolL\ 50%

"llzlol 
gEgE ^ld

8*zle++E +5t ollf l f 99 0.042% ' l l  €tlzl +++g +oJge+El 7.J olql

"JdlEltr zlte+ s+ "Jq+E e) $N 2 ,J+71 +9lE tC
qld lElH , lEB+ "ll4:19I ro% "l l4ol gEq E ^l A

(4) gEl^f++EJZlqr
gl^f= tl€lofolEf^(+)el g6J+^lel Eelzl,qql +!tsf g+,+^lg6Joll rJEf ̂f+,dl^l
el 89, Zltl "I B^lql E!-sr ^f+, ol^l-gl 1++=dl ftr Eel g+oll Et|tl-gHJ^l
++=+4lqFg {l'zl{q +trJEBAEIo| dl,t'|o; i?e4 +eg Hg-ef LJel dBzfxl
: +€:$0flq4qtaf 4e++el E 0.03%=, ++g 'Jg*d g+El= dl,r.1.o; 'Jg^lE

€qqel E 0.00s%= Dl| ?3t71 Etgl-E ^l*6fr. fl+Llrf.

(s) ̂ftlH+lzle+
sl^fts (+)+elStJll +Etl, *7|-€:fl I 6JA Eel ̂ luol H$.$alg+ +l=+4qrg
glrJ4q +trJEeBtfol dl,tlo; ffe,r-1 ++g 'JgE! 'Jel dgzl^l= +E:t!nllE|l
ZIEAI Zlq+;el fi 0.02o/o, +At 'Jg*sr 3+E1= Hli.1-o1 'Jgx|E =e{el E 0.008%
E Et|e$71 tffl-e ^l;6fr. ?laqtrf.



rll s + TlEl^ls

r. d-a. "rt +^l^l* sE
6|1 Bf^fEt 9,€-.

u. sl.r.1o1 egll EIEJE! =9'E t+t!6J^lg
6|l Er-^lB flg.

rn. H 41305 =J^lel +€q 6ll=J6tE 4Elltrs
6I|=J^IB flS.

ry. 4ll|es
6l|'J^fgt g,g.

v. ++4lE!^lg E+q+

+rt4E^t*et qta ff.* q=+=-

l.=^ftrel 100f,1o; T0olatg Tlgol I|lflBETlrJoil
EflaF +4 5 ^ll+= Ar-EJ6f7l fl4q E|l46l= +5
Lfee +€

fl HJ^lAr fi,8

2.tr].8 dli.1-o; elrJflol ?l= gg+4el 100flo; 10
3 444;5 +^fE7i ?lHJ^ftrr fl8

3.5991 g€-d *7f5ilollel Frftr^1 t^f.tjel 100
Eel s= trldfts FxfETf +IHJ^IB fi,8

4.d1,r.1-o; gfl trl _1 +grJZlIf 5Ets sl,r,;-ol +4g
100f;10; L0olar i*6|.r. flb ++ 4 -f. +HEfzl
^fel +EtlF^fsl^fH ril215q^l €6fE ^itlel +
rfl8tHJEoil 6||=J6fts Zel|= 6f= g+l E7l

+lHJ^lg fi,8

s.g+= flqFer ̂ l$$alq^fel +5tj0lLf +7f=fl
g 4e|16fts 6J9l E7f 9lLr^fg 9,8


